Supporting Information - Text S1

FIT Index

Let N be the number of allele pairs that share the same typing pattern, and 
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 their relative frequencies obtained by multiplying individual frequencies of the two alleles, that is.

If the frequency of selected allele pair is 
[image: image4.emf]


pj










p

j

then FIT index of the typing outcome is calculated as:
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FIT score is computed on a set of frequencies of all possible allele pairs resulting from ambiguous typing. 

Given two sets of ambiguous allele pairs with same frequency of most likely allele pair and largely different sizes and distribution, FIT index will be the same, while entropy will change to reflect different distributions between the two sets of allele pairs. For example, given the following two sets of allele pair frequencies F1=(0.5, 0.1, 0.1, 0.1, 0.1, 0.1) and F2=(0.5, 0.25, 0.25), FIT index will be the same (0.301), and the entropy will be different as to reflect larger ambiguity in F1 (2.16 and 1.5, respectively). 
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